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Example

p(e,a | f) =

ε

(lf +1)le

le
∏

j=1

t(ej |fa(j))

das haus ist klein das haus ist klein

das haus ist klein das haus ist klein

the house is small the house is little

small the house is the

(A) (B)

(C) (D)

For simplicity, let’s use ε= 1.0.Computational Linguistics: Jordan Boyd-Graber | UMD Machine Translation | 2 / 1



Example

A)
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Example

A)
1.0

(4+1)4
.7 · .8 · .8 · .4= (1)
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Example

A)
1.0

(4+1)4
.7 · .8 · .8 · .4= 0.00029 (1)
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Example

B)

Computational Linguistics: Jordan Boyd-Graber | UMD Machine Translation | 3 / 1



Example

B)
1.0

(4+1)4
.7 · .8 · .8 · .4= (1)
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Example

B)
1.0

(4+1)4
.7 · .8 · .8 · .4= 0.00029 (1)
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Example

C)
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Example

C)
1.0

(4+1)4
.7 · .8 · .8 · .4= (1)
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Example

C)
1.0

(4+1)4
.7 · .8 · .8 · .4= 0.00029 (1)
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Example

D)
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Example

D)
1.0

(4+1)
.7= (1)
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Example

D)
1.0

(4+1)
.7= 0.14 (1)
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